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1. ' (@)  What is the Production Possibility Curve (PPC) ? Explam ‘
how this curve illustrates the three concepts of scarcity,
choice and op};\ortunity cost. Show. the effect of
E@nomic_ Growth on the PPC. | 2452V
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Distinguish betweep change in quantity demanded and
change in Demand. 5
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If demaﬁd function is given by Q4 = 50 - 0.5 P and
supply funétipn is Qs = -10 + P, then find out
equilibrium price and quantity. 5
Compare price elasticity of démand for two parailel

demand curves. for a given quantity. 5
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Discuss the main determinants of price elasticity of

. demand. - - ' 5
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Discuss .lhc law of Dimini.shir.ag_Marginal Utility (MU).
E;cplain with the help of a schedule and diagram that.
Tola.l Utility is maximum when Marginal Utility is zero.
Show thé derivation of demand cgirve from Diminishing
Marginal Utility. | o 10
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Using suitable diagrams, show the indifference curves

L)

for the following cases and also show the direction in

which utility increases :
{) Two goods that are perfect subsiitutes;

(in Prbduct Y is good and product X is a bad.
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Define an Indifference Curve. Explain the properties of -

Indifference Curves. | 7

-Explain the Price Consumption Curve ‘_(PCC) and

" derivation of the demand curve in case of a giffen good

from the PCC. | 3
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Explain the shape of the Long Run Average Cost {LRAC)
curve, ‘ ‘_ | 7
Given- data for total production costs of a firm at

various - levels of output, calculate Total Fixed Cost

;

. (TFC), Average Fixed Cost (AFC), Average Variable
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Cost (AV(Q), Average Total Cost (ATC) and Marginal

Cost (MC) 5.
Output Total Cost
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() Compare the column AVC and MC and explain the

relationship between these. .3
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(@}  Explain the dlamond-water paradox. 6

~

()  Show the income and substitution effects of a price

~ fall for 2 normal good using indiffercnce curves. 9
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(@ Explain the conditions for short run equilibrium for a

perfectly competitive industry. . .6

(b) Explain why the long run supply curve for 2 perfectly

competitive industry may be downward sloping. 9
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Write short notes on any two of the following : (7% each)
()  Economies and Diseconomies of scale;
(i) Price Ceiling;

(iif) Break-even point.
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